491

ONE-STEP CORE PINS —LAPPED TYPE—

1Ea7EY

—5Eim S v TR - B (D) EE - BiRNE-852-800s

e

D Bre w o=
[HR:J: 5
WE-V-ARE|  Type Step | Shape
P 1A | EBITFS
weaxo-yy |FCPD—| 4p c
e ———t V- AAZE +0015
\ ! = ic| ¢
T — SKH1 T
SRS AT B 58~60HRC _ _| 1D
- sEag gy |- CPH R
@ %HBLAEC T v TBERKL LBHRTT, V- ARE o0 1E B

@[Step [ TEDIZADAREIZ X002 %) F T,

Shape (G : VIRERMIFIOTETT.)

Step (ERFIX) TR 1A ~ 1E & V&R
R=03 L [Shape| ZABRERS ER |
-3 .
T=4 —0.02 =
£ :
L S ®L210+a
R=0.3 R=0.2 Shape
o8 a ‘/ﬁ*)
= —,S"’Ji
/> <
T=4 —0.02
F+g.02 2
L <. ®ez10+a
2
R=03 ¢ R=02 [Shape
Ks=45%30 " o
-3 . M=)
il [
[
> <
T=4 —0.02 ®2 ;%"1‘1.04‘0
F'5® 2 ACEI TR
L < =2 fio+a
R=03
=7
T=4 002
e ) ®4=C+1.0+a
L 3 c="232 o [Senjic
E= R=0.3 R01 Shape %
/;g e ‘i‘
3 = \ — <
; ==
|
T=4 002 > %
proo P) < @AAZEIEF0.02&
) EVET
L S, ® ¢ =R+1.0+a

(ST ) @%IHMIF > D
%% |3 Shape D
BERE

i :i a=0
Lo %ﬁd
(CEBw)

48 Gaop 05=G<V/2

45430 $ETE0. T mmBfiL
a=G6G 6<45

h ———d

‘]

(F3EANT)

20<K=60
1EET BT

v
0 =Jang 8 <K

0.1=5< g

$ETE0. 1 mmEBi iz
10=K=45

0.2=Q<V/2
G201 4270 ImmEs iz
a=Q

2

Order
EXHI

@LAZEBhap BB @ 5y TAIBIF ¢ ~TE - EHEICT>THVET,

(FREBD BE 6 DEH BE P.1507)

fm & |-[ L |-[ F |-[ A ]-[ v |-[c-R|-[e@Ti&(K-5-G-Q)
L-CPH-1A 5 — 58.00 — F40.00 — V4.50
L—CPD—1A 5 — 58.00 — F40.00 — V4.50

—0.01
D—0.02

0
—0.005

D

(M) &Mt MBS 1 ER BT P49

; TERE0.0ImmEf B0 immE{r
H X L F £ max

= = A Vmin. (o] R )

Type Step| Shape | D min. max. min. max.
3 I 1.5
| wanagy | 1A 20082 | [e0 | [SEye
B WEAEG0 2HEE 5] 100.00 DHIBE | DHIBTE
6| L—cPD— |1B| & [3] L— £min.|D>AZV _
o c = . 100 | c<DZA |g<D=A| AXE
7 1C 135) 1200 10.00 |® £min. | [SEpJA 2 2 | ang
L G | 4] [Sep |+ | D>V _and and
o| E22dw D| T [45 120.00 B | ADIEEFRE #01=0=4.0 L=
Sl B XOVCEMIfEMAE R=0.2
; L—CPH 1E g 5.5 1.50 | 050SCVC£1.00
6 2.00
o W E 251 R (QIRFBNIAT) P47 Deliver
¥ @~ BEED BN ERA AT iﬁ i E
W B[ 1~4 [ 5~12 [ 13~19 [ 20~560 | 51~  @xmms@mis 8
@51 [HEBM| 5% [ 10% | 15% |HRMY — wosIcCIREEE,
¥EEEE 1~4%

Step
@rw| [ A T3 | [ = |[[c_1= | [ |

&
D

nIty

)
D

=
)
®

B

D)

shvA-a)

D /\é =001 | 0 =001 | 0 =001 | 0 —=001| 0 =001 | 0 =001 | 0 =001 | 0 =001 | 0 —001| 0 =001 | 0 =001 | 0 —001| 0 =001 | 0 =00 0 =001 | 0
—0.02 |—0.005] —0.02 |—0.005] —0.02 |—0.005] —0.02 |—0.005] —0.02 |—0.005] —0.02 |—0.005| —0.02 |—0.005] —0.02 |—0.005] —0.02 |—0.005| —0.02 |—0.005| —0.02 |—0.005] —0.02 |—0.005| —0.02 |—0.005| —0.02 |—0.005] —0.02 |—0.005
1.5
2725 1,970/2,420{2,680(3,120|2,330|2,770{2,130 (2,570 (2,840 3,270 | 2,480{2,920{2,310|2,790| 3,010 | 3,490 | 2,660 | 3,140 2,380 2,940 | 3,090 | 3,640| 2,730 {3,290{ 2,770 | 3,300 | 3,470| 4,000 | 3,120 | 3,650
3
% 2,000/2,450{2,7103,160|2,350(2,810{2,150 | 2,600 | 2,860 3,300 |2,500{2,9502,350|2,830| 3,060 | 3,530 | 2,710{3,180]2,430{2,980 3,140 | 3,680| 2,780 |3,330{ 2,800 | 3,350 | 3,510| 4,050 | 3,160 | 3,700
4755 2,050/2,520{2,760(3,220|2,410|2,870{2,200|2,670(2,910|3,370 {2,560 3,020{2,420|2,900| 3,130 3,600 | 2,780 {3,250 2,490 | 3,040 | 3,200 | 3,740| 2,850 {3,390 2,870 | 3,420 | 3,570| 4,120 | 3,220 | 3,770
57('35 2,120/2,610{2,820(3,310|2,470|2,960{2,270 | 2,760 2,970 3,460 |2,620|3,110{2,430|2,990| 3,140 3,690 | 2,790 | 3,340 2,500 | 3,140 | 3,210 | 3,840 2,860 | 3,490{ 2,880 | 3,510| 3,580 4,210 | 3,230 | 3,860
Alterations [m % |-[ L |-[ F |-[ A ]-[vive)]-[clove)| - [R(RE)| - s ti# (K-S-G-Q)] — (KG * WKC--etc.)
T L—CPH—-1EC6 — 50.00 — F40.00 — A5.00 — V3.10 — RE15 — G1.0 — HC8.0
L—-CPD—-1EC6 — 50.00 — F40.00 — A5.00 — V3.10 — RE1.5 — G1.0 — HC8.0
BN T EE4 BE P.465
Alterations |Code Spec. ¥/1Code Alterations |Code Spec. ¥/1Code
) &Y /5 hy b DDE T{:/\Fgﬁ By 15<70<4
VI 0 =180 1MmENMN 15=
gKC,gm KC |pr<kc<hiz 100 1 To-00 | TC | ([ perikidiEmEst&im)) A
: 4 4—TC=Lmax.—L
@ 2B S Hy b Y ST ORFINT
> Y R g A = .
it |V | D2E e <hr2 i HTO 200 | TRN[(ZL- R oEmrRE) e
A =] VAT
STEEVWYNH Y b @ S R U] Sl (1-20%)
A YINEF LN S TIT
() o |KAC D nn 300 \o/ @) |NHe |ERE . ki e pase : ;ﬂ)
KAC KBC—001 | KBC (. N\ ® SKCHERART] « X h— 7 EAAE 3XNF
KAC<KBC<H/2 )91 5 ML > 100
N AR ADY RR SEERO2EIT ZR03~05E®
oH®) RKC |[2EER) Y\ Hy b THERETEE || 200 RR |GEEZE L) RR 300
=1 T RC—oo D/2=RKC<H2 O[SER1B - 1C - 1Dl &
: Ogﬁm B ; e @®D—A=1.0 [SEp IDDIZACZ0.5
o . : . BHEKs=45" % A EEE R
5T |pkc|3EY 1A h 300 AC AC |AC=1RTEI" B (D[SkpliC - 1DI-3E/A 400
o D/2=DKC<H/2 ©30=AC=60 ® CVC - RR& DHFEAAH
DKC DKC—0.01 @ [Sep IR DBHEC=1.0A+2(CxtanAC" ) <D
(VG002 ; s -
7 R o C~t i %0.01mmESfi THEE R
g SKC|[MBILTAE @ vrtmy | |40 T CVC |@050=0VE=100 DISeiDIcEA | 400
@ SKC—0.01 = b4 EE/L: ey @cve< (D—A)/2 RACE DA
3
AGS £05 S 2EY NSy b (AE) Téﬂj D Vmin. [ VCmin.
N & | ke De=KaC<wz  [FEEER|oimm || 400 Vimin. % #A 15 | 1.00 [ 060
0<<AG<360 © VC=4E70.01mmafir 35=4] 100 | 0.70
KGC AG=H5TE1° Bifir = AEQ0TMmMEN. 5571750 | 1.00
o EH-:—B VC |® ¢ =AX5, £=25 6 | 200 [ 150 | 600
@ 120° SEY/NA Y b ((Step11AIED X 5) ®D=2~3-45- 53,
1200 \§ o | KTC |120° 35 1F 400 ®D>A=VC vmin. "I LRRFR T
KTC—0.01 D/2=KTC<H/2 VCAEFIAR BT
L Y INREE k= RIZIRDZEFE (HEK) RE=FEE0.5mmEE L
O oﬂ HC |HC=FEZE0ImmEif: D=HC<H 200 X RE |@05=RE=20 400
R\ Q@ YNEAZDERETRA L — MK D QOFAZER " EBWET,
- = r—2PBVET, - (9 [[Step [1EV 5B
o i o = HANL MINT
. Y INERE (FHT) - GB=1 D=2Ci
e , (_lJ HCC |HCC=457E0.1mmE i 400 B(;S GVC Szgesé%n%;%t+2%a|3_§3oﬁm 600
==t D+0.5=HCC<H—03 FlGe] Fmin. <F—GB 15E6E - 5 H % L BE P.466

\UNUER

24v4-K

492



